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B. Com. (Part IIT) EXAMINATION, 2020
(Optional Group A—Finance Area)
(Group—III)

Paper First
FINANCIAL MANAGEMENT
Time : Three Hours
Maximum Marks : 75
Minimum Pass Marks : 25
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~ Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
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“The goal of profit maximisation does not provide an
operationally useful criteria for measuring the success of
business operations.” Explain it.
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Define finance function. Discuss its nature and scope.
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What do you understand by financial management ?

Explain the importance and limitations of financial
management in modern era.
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I 0.909
I 0.826
i : 0.751
v 0.683
v 0.621
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The following details relate to the two machines x and y :

AT
(On)
frforRaa fRaxor <1 a9i=T x aon y q gwfa €
e x 79 y
AT (%) 1,12,250 1,12,250
CEUIECANICE 5 7§ sad
AT Vel el () 6,000 6,000
IR U1 B D 915 14D 3
T 4
I a8 6,750 22,750
1 af 10,750 18,750
11 7§ 14,750 14,750
v o 18,750 10,750
v o 22,750 ° 6,750

Machinex | Machine y
Cost () 1,12,250 1,12,250
Estimated life 5 years 5 years
Estimated Salvage Value (%) 6,000 6,000
Annual income after tax and depreciation :
' ? ?

I year 6,750 22,750

II year 10,750 18,750

III year 14,750 14,750

IV year 18,750 10,750

V year 22,750 6,750

(A-2)

Overhauling charges at the end of 3rd year ¥ 50,000 in
case of machine x. Depreciation has been charged at
Straight Line Method. Discounting rate in 10%.
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P. V. F. at 10% for the five years are :
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Year PiV. F,
I 0.909
IT 0.826
111 0.751
v 0.683
v 0.621

Using present value method, suggest which machine
should be chosen ?
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Define cost of capital. State how would you determine the
weighted average cost of capital of a company ?
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x y
fama vd SaRA (FHgd) 80000 100600
aRadeia @ @ 33E) () 4 3
=t arrd (%) 2,40,000 | 2,50,000
U N @ () 1,20,000 | 2,50,000
fassa wew Uiy gord 10 8

(A-2)

5

[5]
IqT DT D AR |
() uReEe de
(i) facfra favw

(iii) WYH ofia¥s B T ST |

The following projections are related to companies
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xandy:
X" ¥y
Output and Sales (units) 80000 100000
Variable Costs p. u. (%) 4 3
Fixed Costs () 2,40,000 2,50,000
Interest burden on Debt (%) 1,20,000 2,50,000
Selling Price p. u. 10 8
On the basis of above data, compute :
(i) Operating Leverage
(ii) Financial Leverage
(iii) Combined Leverage
TPE—4
(UNIT—4)
A fafiez &1 fagr fer wor @ -
Tf@ R ) G LE ¥ )
WA @9 §ofl | g,00,000( @ WERAT | 640,000
8% FUTA 6,00,000| V5 72,000
ARG ATER 80,000 | SR 4,88,000
<7 faa 1,20,000| W i@ 1,00,000
A 1,28,000
fafanr 1,72,000
16,00,000 16,00,000
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T 60,000 CE G| 48,000
GRa 40,000 | wwad 80,000
A 45,000 | wrd 81,000
et 40,000 | ada 90,000

(iii) e &A1 AT
Following is the Balance Sheet of A Ltd. :

Liabilities Am(:;: o Assets Am(:;: p
Equity Share Capital | 8,00,000) Fixed Assets 6,40,000
8% Debentures 6,00,000| Cash 72,000
Trade Creditors 80,000| Debtors 4,88,000
B/P 1,20,000| B/R 1,00,000

Stock 1,28,000
Investment 1,72,000
16,00,000 16,00,000

Calculate the following ratios from the above Balance

Sheet :

(i) Capital Gearing Ratio
(ii) Debt-Equity Ratio

(iii) Solvency Ratio
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Explain various policies relating to allocation of dividend.

Under what conditions should the allocation of dividends
be made by a company ?
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From the following information, prepare a cash budget for
the period from January to April :

Expected Sale Expected Purchase

L4 (4

January 60,000 January 48,000
February 40,000 February 80,000
March 45,000 | March 81,000
April 40,000 _ April 90,000

(A-2) P.T. O.
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Wages to be paid to workers T 5,000 p. m. Cash balance
on st January may be assumed to be T 8,000. It has been
decided by the management that ;

(i) In case of deficit within the limit of 10,000
arrangement can be made with the bank.

(i1) In the case of deficit exceeding ¥ 10,000 but within
the limit of ¥ 42,000 issue of debentures is to be
preferred.

(iii) In the case of deficit exceeding % 42,000 the issue of
equity shares is to be preferred.
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Net working capital is the excess of current liabilities over
current assets. Explain.
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